The probability that a biased dice will land on a five 15 0.3
Megan 1s going to roll the dice 400 times.

Work out an estimate for the number ol times the dice will land on a tive,
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There are 3 red pens, 4 blue pens and 5 black pens in a box.
Sameena takes a pen, at random, from the box.

(a) Write-down the probability that she takes a black pen.

Total= (2

(b) Write down the probability that Sameena takes a pen that is not black.

P (Pem hat ' nat black ) = .E
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Each student at a college studies one of four languages.

The table shows the probability a student chosen at random studies German or Russian

or French.

Language

German

Spanish

Russian

French

Probability

02

0.1

0.5

A student i1s chosen at random.

(a) Work out the probability that the student studies Spanish.

There are 800 students at the college.

(b) Work out the number of students who study German.
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9.

Riki has a packet of flower sceds.

The table shows cach of the probabilities that a seed taken at random will grow into a

flower that is piak or red or blue or yellow.

Colour

pink

red

blue

vellow

while

Prabability

0.15

0.25

(a) Work out the probability that a sced taken at random will grow mto a white flower
p(seeh grows wite a WAL ftoner )=
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There are 300 seeds in the packet.

All of the seeds grow into flowers
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{b) Work out an estimate for the number o red owers
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2. A spinner can land on red or blue or pink.
The table shows the probabilities that the spinner will land on red or on blue.

Colour red blue pink

Probability 0.58 0.30

Work out the probability that the spinner will land on pink.
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(Total 3 marks)

8.  Angel Lid manufacture components for washing machines. The _probability that a component
will be made within a tolerance of one tenth of a millimetre(s 0.995.
sl

Angel Lid. manufacture 10 000 components each day.

Work out an estimate for the number of components that will not be within the tolerance of one
tenth of a millimetre each day.
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{(Total 2 marks)

2. A spinner can land on red or blue or pink.’

The table shows the probabilities that the spinner will land on red or on blue.

Colour red blue pink
Probability 0.58 (.30
Work out the probability that the spinner will land on pink.
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Ihe four-sided spinner is labelicd 2.4, 6, 8
The fivessided spinier is Jabelled 1, 3,5, 7,9

Louise adds the score on the four-sided spioner o the score on the five-sided spinner
She records the possible 1otal scores i a table

4-suded spunner

¥ 2 -l (] l'i
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ta} Complete the table of possible ttul scores

(1)
(b) Write down all the ways in which Louise can get a wital score of 1
One way has been done for you
eo (16) B0 (28
(2

Both spinners are L, Py

{c) Find the probability that Louise’s total .wmc@n than 6 ; % ‘
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S, Here are the weights in grams, 10 the nearest gram, of 15 eggs

i3 40 41 54 51
i 60 44 55 51
62 55 52 37 b3

(a} Complete the ordered stem and eaf diagram 10 show this mformation
You must include a key

}
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133
Meg is going 10 pick at random onc of the cggs
{b) Work out the probability that this egyg will have a weight of more than 45 grams.
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There are only red counters, blue counters and green counters in a bag.
There are 5 red counters.

There are 6 blue counters.

There is | green counter.

Jim takes at random a counter from the bag.

(a) Work out the probability that Jim takes a counter that @ ' R <
Bl +Yreen

(2)

The probability of taking at random a red counter is now 1
i 2C
(b) Work out the number of brcm counters that are pow i m the Dug. =
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(Total 3 marks)

9. Here 1s a 4-sided spinner.

Red

Yellow

I'he sides of the spinner are labelled Red, Blue, Green and Yellow

The spinner i1s biased : :
Fhe table shows the probability that the spinner will land on each of the colours Red,

Yellow and Green

Colour Red Blue Gireen Yellow
Probability 02 03 01

Work out the probability the spinner will land on Blue
*__________,/
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5. Fred did a survey of the time, in scconds, people spent in a guese at a supermark et
nformation about the times 18 shown 1 the ble

el
Iime (7 seconds) Frequency
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